BADRIAN STEEL LS5, LADDER STOP KIT, MSLR2

ial Vehicles

Introduction / Comments:

The LS5 is a ladder stop designed to mount to the cross supports of the MSLR2 series load-
runner for midsize pickup trucks. It can be mounted to any of the three cross supports.

Note:

It is advised that all fasteners used in this assembly and installation should be
checked for tightness at the following intervals: @ 2-weeks and again @ 6-
weeks of operation. This preventive maintenance step must be completed to en-
sure your Product gives you long service life.

LSS
LADDER STOP KIT,MSLR2

ADRIAN STEEL COMPANY @ WWW.ADRIANSTEEL.COM @ 906 JAMES STREET @ ADRIAN, Mi 49221 @ 800-677-2726
Publication Number: 63678

Revision Level: B ECN Release: 24594




BDRIAN STEEL LS5, LADDER STOP KIT, MSLR2 2

- PRECAUTIONS -
A CAUTION A

THE USE OF AIR IMPACT TOOLS CAN
OVER-TORQUE FASTENERS AND
CAUSE FASTENER FAILURE!

CAUTION
., ALL INSTALLATION HOLES SHOULD BE SEALED ..
' WITH SILICON OR BUTYL SEALANT TO PREVENT /,"\7
4 EXHAUST FUMES FROM ENTERING THE VEHICLE! v

DANGER
INSPECT FOR FUEL TANK, FUEL LINES, BRAKE LINES, HIGH
VOLTAGE BATTERIES AND ELECTRICAL LINES PRIOR TO
DRILLINGTO AVOID DAMAGING CRITICAL VEHICLE SYSTEMS
OR INJURY TO INSTALLER DURING INSTALLATION PROCESS!

CAUTION
L TO AVOID DAMAGING THE VEHICLE ALWAYS USE DRILL L
_1; STOPS WHEN DRILLING ANY INSTALLATION HOLES! _#,
¥ J ADRIAN AVAILABLE PART #S 31119-0 (3/8” X 1/2” 1 J L
DEEP), 31121-0 (1/2” x 1/2” DEEP) 12" LONG

- IMPORTANT WARRANTY REQUIREMENTS -

1. SUBSTITUTING ADRIAN STEEL SPECIFIED FASTENERS FOR ASSEMBLY AND/OR INSTALLATION
WILL VOID YOUR PRODUCT WARRANTY.

2. ALL HOLES DRILLED INTO VEHICLE SHOULD HAVE THE RAW METAL EDGES SEALED WITH A SELF
-ETCHING PRIMER TO RESIST CORROSION AND POTENTIAL FASTENER POINT FAILURE.

3. ALL FASTENERS USED IN THE INSTALLATION OF THIS PRODUCT SHOULD BE TIGHTENED TO THE
TORQUE(S) SPECIFIED IN THESE INSTRUCTIONS.

4. THESE INSTRUCTIONS SHOULD BE KEPT WITH THE VEHICLE.

THE BASIC TOOLS NEEDED FOR MOST INSTALLATIONS

3/8" DIA. 1
L—@. \’
T L S
12" LONG——] ﬂ’é'a
DRILL BIT WITH RATCHET, SOCKETS ‘
DRILL SToP ANDIOR WRENGHES SCREWDRIVERS MEASURING TAPE

ADDITIONAL TOOLS MAY BE NEEDED FOR THIS INSTALLATION AND THEY WILL BE IDENTIFIED IN THE STEPS THAT FOLLOW.

ADRIAN STEEL COMPANY @ WWW.ADRIANSTEEL.COM @ 906 JAMES STREET ® ADRIAN, MI 49221 @ 800-677-2726

Publication Number: 63678 Revision Level: B ECN Release: 24594



ADRIAN STEEL LS5, LADDER STOP KIT, MSLR2

Cargo Management Solutions for Commercial Vehicles

Installation and/or Assembly Fasteners

BAGLS5
ITEM NO. PART NUMBER DESCRIPTION QTy.
1 BAGO406-A 4" x 6" 3MIL AUTOBAG 1
2 FAS0470 U-BOLT 1/4-20X1.75X2.68SS 2
3 FASOT25 Nut, Nylon Insert Lock, 1/4-20 SST 4
4 FAS0234 Washer, Flaf, 1/4, SST 4

ADRIAN STEEL COMPANY @ WWW.ADRIANSTEEL.COM @ 906 JAMES STREET ® ADRIAN, MI 49221 @ 800-677-2726

Publication Number: 63678 Revision Level: B ECN Release: 24594



ADRIAN STEEL LS5, LADDER STOP KIT, MSLR2 4

Cargo Manag: jons for Cor ial Vehicles

Step 01 Install the ladder stop around any of the cross supports as shown below.

FAS0470
U-BOLT 1/4-20X1.75X2.68SS

FAS0234

f WASHER,FLAT SAE 1/4 SS |8
FAS0125

NUT,HEX NLK 1/4-20 SS

Your install is now complete.

ADRIAN STEEL COMPANY @ WWW.ADRIANSTEEL.COM @ 906 JAMES STREET ® ADRIAN, MI 49221 @ 800-677-2726

Publication Number: 63678 Revision Level: B ECN Release: 24594



